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What causes...?

Why does the author mention...?

How many...?

Where in the passage does the author describe...?
What time does the writer think is...?

What does the author pay least attention to...?
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How many... does (did) somebody do something?
Where is...located ?
What does (did) somebody do?
How did something happen?
When was something done ?
Which of the following people should (not)do?
We can see from...that
The followings are the reasons for...except
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The passage implies/suggests/shows that

It is implied/suggested/indicated in the passage that

It can be inferred/seen/concluded from the passage that
The author suggests that

The purpose of this passage is

We can learn/conclude from the passage that

Judging from... we find/know that
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Which of the following can be inferred...
Which of the following can be concluded from the passage...
Which of the following conclusions could best be drawn from the passage ?
Based on the passage, we can assume/presume that...
The author implies that
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The passage is most likely to be taken from
The passage is most likely a part of
The paragraph following the passage will probably discuss
The passage is most likely to be taken from the article entitled
The writer/author of the passage is most likely to be a/an
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What is the main idea of the passage ?
This article is mainly about
This passage deals mainly with
What does the passage mainly discuss ?
What is the main topic of the passage ?
With what topic is the passage primarily concerned?
The central idea conveyed in the above passage is that
Which of the following best sums up the passage ?
The main idea of this passage is
The passage tells us
Which of the following statements best expresses /summarizes the main idea of the
passage”?
Which of the following best states the theme of the passage ?
In this passage the author/writer mainly argues that
The purpose of the author in writing the article is to
What does the author intend to convey through the passage?
The passage is intended to
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Which of the following titles best summarizes the main idea of the passage ?
Whats the best title for this passage ?
The best title for this passage would be
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As used in the passage, the phrase “...” suggests
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The word “...” in the passage means
The word “...” (Line...) could best be replaced by
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According to the passage, the word “...” is known as
in line...,the word “...” means
As used in the passage, the phrase “...” suggests
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According to the passage, the phrase “...” suggests
The passage used the word “...” to refer to
From the passage we know that “...” is a term referring to
The sentence “...” (Line...) means that
The sentence “...” can be paraphrased as
What does the sentence “...” mean?
What does the sentence “...” imply ?
In line..., the word “it” refers to
In line...,the word “it” could best be replaced by
In paragraph...,the word “...” stands for
The word “one” (in line...) could best replaced by which of the following words ?
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The authors main purpose in this passage is...
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The authors purpose of writing this passage is...

In this passage the authors attitude toward...could best be described as...
What is the authors attitude towards...

The authors main thought is that...
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The author probably feels that...
The author appears to feel that...
The writer discusses...in order to illustrate which of the following ?
In this passage the author looks on...with an attitude of...
What is the tone/mood of the passage ?
The author argues in the passage that...
According to the author...
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Which of the following is NOT mentioned in the passage ?
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Which of the following would NOT be an example of ?

All of the following were mentioned in the passage EXCEPT
According to the passage, all of the following are true EXCEPT that
Which of the following statements is NOT mentioned in the passage ?
Which of the following statements is NOT true ?

Which of the following statements is TRUE according to the passage ?

All of the following are reasons for...EXCEPT
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